BRITAIN 1945–2007

Answering Questions at AS Level

When you are preparing for the AS examination, remember that you will be asked to engage in extended writing. For AQA and Edexcel, you will be expected to produce an answer that evaluate sources and also produce answers that incorporate your own knowledge. For OCR A, you will be expected to produce an essay-style answer based on your own knowledge.

The differences and similarities between GCSE and AS History are explained on pages 4 and 5 of your Britain 1945–2007 textbook.

Here are three examples of AS examination questions, one each in the style of Edexcel, AQA and OCR A.

In each case, an example answer is given. Within the body of the answer, there are comments that highlight the strengths and weaknesses of the answer.

At the end of each answer a mark is awarded.

Edexcel 

Unit 2

E1 British Political History 1945–1990: Consensus and Conflict

The examination time is 1 hour 20 minutes.
Study Sources 1–6.

Answer Question 1, parts (a) and (b).

Source 1
The 5.6% national swing from Labour to the Conservatives was the largest achieved by either party since 1945. The biggest swing was among skilled workers. These were precisely the people we had to win over from their lifelong socialist allegiances. They were confronted by the fundamental dilemma which faced Britain as a whole: whether to accept an ever greater role for government in the life of the nation, or to break free in a new direction.

From Path to Power by Margaret Thatcher, published in 1995. This was part of Mrs Thatcher’s memoirs

Source 2

The Conservative victory of 1979 was won against a background of a decade of recession in which materialistic expectations were disappointed, and in four years out of ten, average real living standards did not rise at all. Labour suffered a massive haemorrhage of working class votes. Labour’s policies were out of tune with the aspiration of a significant section of its natural class base who wanted to own their own house and pay less income in tax.

From Mrs Thatcher’s Revolution by Peter Jenkins, published in 1987

Source 3
The election campaign centred around two contrasting party leaders: the reassuring, avuncular figure of Jim Callaghan and the strident, aggressive style of a very confident Margaret Thatcher. Callaghan succeeded in keeping Labour’s manifesto moderate. But, in a sense, the manifesto mattered little. The scenario for the election had already been set, with the management of the economy and the role of the trade unions at the centre. There seemed to also be a feeling in the country that the time for real decision had come and that the electorate had had enough of minority government.

From Post-War Britain, 1945–1992 by Alan Sked and Chris Cook, published in 1993
Source 4
Two decades on, the second Thatcher Government (1983–87) looks like the zenith of Thatcherism. This was the period of economic recovery when the economy finally emerged from the recession of the early 1980s. It was the heroic period of privatization, with the successful sell off of whole utilities. It was also the time of deregulation in the City of London – the so-called Big Bang – when quick fortunes were suddenly there for young men known to the press as ‘yuppies’. It was a time of tax cuts, easy credit and rapidly increasing spending power.

From Margaret Thatcher, The Iron Lady by John Campbell, published in 2003

Source 5
During her second term the Thatcher government attempted to encourage more popular support for capitalism through widespread share ownership in a similar fashion to the extension of home ownership to low income families through the sale of council housing. For the ‘haves’ of the mid 1980s, real wages outstripped inflation. By the time the next election was called in 1987, Thatcher seemed to be delivering an economic miracle in the prosperous parts of the country.

From Britain 1945–12007 by Derrick Murphy and Patrick Walsh-Atkins, published in 2008

Source 6
The underlying economy was sound: indeed, as we pressed ahead with further structural changes, especially privatization it would become sounder still. When I spoke in the House of Commons on 22 June 1983 I could point to the lowest rate of inflation since 1968, to higher output and to record levels of productivity.

From The Downing Street Years by Margaret Thatcher, published in 1993. This was part of Mrs Thatcher’s memoirs
(a) Study Sources 1, 2 and 3.

How far do Sources 2 and 3 support the view in Source 1 that the Conservative victory in the 1979 general election was due to the defection of skilled workers to the Conservatives?
(20 marks)

In many ways, the information in Source 2 supports the view mentioned in Source 1 about skilled workers voting Conservative in 1979. Source 2 states that there was a major loss of working class votes in 1979. It suggests that the working classes wanted their own homes, a Conservative policy. However, Source 2 also points out other reasons for Conservative success. It states that there had been a decade of recession and that many voters wanted a change in government. Source 3 supports this latter point. It suggests that many voters wanted an end to minority government. However, it also offers other factors such as the quality of Mrs Thatcher’s leadership compared to that of Labour leader James Callaghan.

COMMENT

This paragraph offers a clear link to the demands of the question. It provides a clear comparison between the information contained within the sources.

It would have been useful if the answer had quoted directly from those sections of the sources deemed relevant. This answer could also have been improved by giving comments on the provenance of the sources. For instance, Source 1 was written by the Conservative Prime Minister Mrs Thatcher. As this source is from her memoirs, it provides her own personal view after she left office.

LINKS TO

Britain 1945–2007, pages 36–37 and 72.

Therefore, Sources 2 and 3 support the views about the defection of skilled workers, mentioned in Source 1, only to a limited extent. The reasons for Conservative victory, outlined in Sources 2 and 3 go beyond this point although Source 2 does mention the desire of working people to own their own homes which reflects a lessening of government involvement in their lives, a point made in Source 1.
COMMENT

This paragraph offers a clear conclusion to the answer which sums up the main areas of comparison between the sources.

Level of Performance

This answer demonstrates comprehension of the sources and focuses on cross-referencing but most comparisons are undeveloped and have limited support from material in the sources.

This answer was awarded a mark in the top of level 2: 10 out of 20 marks.

b) Use Sources 4, 5 and 6 and your own knowledge.

Do you agree with the view that privatisation was the most important domestic reform made by Mrs Thatcher’s second government from 1983 to 1987?

(40 marks)

Privatisation was seen by several of the sources as a very important reform during Thatcher’s second government. Source 4 states that it was a ‘heroic period of privatization’, suggesting that this was very important. Source 5 states that other policies were more important. It refers to the growth of share ownership, the purchase of council houses by their tenants and improvements in the economy which led to a rise in real wages above the rate of inflation. However, Source 6 suggests that Thatcher herself regarded privatisation as very important. She states in her memoirs that it made a sound economy sounder still. Yet this statement also suggests that Thatcher’s policies had already made the economy sound. She also goes on to state that she regarded the control of inflation and the rise in productivity as also very important.

COMMENT

This paragraph offers a clear link to the information within the sources. It highlights sections of the sources that refer directly to the issue of privatisation. However, this question requires candidates to use the sources and their own knowledge. Therefore, it would have been useful if this paragraph had integrated source information with own knowledge in the construction of a logical argument.

LINKS TO 

Britain 1945–2007, pages 82–95.

Using my own knowledge I know that Thatcher’s support of monetarist economic policies, through the manipulation of interest rates and the control of the money supply helped get inflation under control by 1983. This policy laid the foundation of a sound economy and must be regarded as Thatcher’s greatest achievement in economic affairs. However, Thatcher also limited greatly trade union power. Unofficial strikes fell and employers had greater freedom to introduce new working practices and hire and fire workers. These developments led to a big increase in productivity. An example of this was the move to new technology by The Times newspaper group owned by Rupert Murdoch.

COMMENT

This paragraph offers relevant own knowledge which deals directly with Mrs Thatcher’s domestic policies. It offers material that deals with factors other than privatisation. The question asked specifically for coverage of Mrs Thatcher’s second government. However, Mrs Thatcher’s use of monetarist policies were more closely associated with her first government of 1979–1983. Although she continued these policies into her second government this should have been made clear in the answer.

LINKS TO 

Britain 1945–2007, pages 82–95.

Yet privatisation was very important. It raised billions of pounds for the government from the sale of government-owned bodies such as British Telecom. This additional revenue allowed Thatcher to reduce government borrowing. The government no longer had to deal with the PSBR (Public Sector Borrowing Requirement) and she actually introduced PSDR (Public Sector Dent Repayment).

COMMENT

This paragraph offers a clear link to the question. It highlights the importance of privatisation and links the policy to other aspects of Thatcher’s domestic policy which could be seen as successful, such as the reduction of public sector borrowing.

LINKS TO 

Britain 1945–2007, pages 82–95.

Therefore, although privatisation was a very important policy, it was the wider achievement of creating a strong economic climate of low inflation and greater productivity that was Thatcher’s major domestic achievement in her second term.

COMMENT

This paragraph offers a clear link to the question and makes an assessment of the importance of privatisation within Mrs Thatcher’s domestic policy.

Level of Performance

This answer is well focused, identifying a range of specific explanations, backed by information from the sources and own knowledge.

This answer was awarded a mark in level 3: 15 out of 30 marks.

AQA

Unit 2 

HIS2R

A Sixties Social Revolution? 1959–1975

Source A
Macmillan was tired. 65 years old in 1959, he had spent 10 years in the cabinet and led the party and the country through the tense international and economic climate surrounding Suez. He also seemed to be increasingly out of touch with the socially mobile affluent age that the party had been at pains to cultivate in the previous decade. Half of the Cabinet after 1959 were fellow Old Etonians. The promotion of a peer, Lord Home, to the Foreign Office in 1960 was criticised as highly undemocratic. Macmillan and his government were thus easy targets for satire, as shown to devastating effect by the young comedians of the day. Suddenly, the Conservative leadership became labeled as ‘The Establishment’.

From Britain 1945–2007 by Derrick Murphy and Patrick Walsh-Atkins, published in 2008
Source B
A scandal broke in June 1963. The Minister of War, John Profumo, had been sleeping with Miss Christine Keeler, who had been a bed-partner of a Russian diplomat, Captain Ivanov. The matter became a cause for public concern when on 22 March 1963, in response to a question in the House of Commons, Profumo denied that he had any improper relationship with Miss Keeler. When the Lord Chancellor conducted an inquiry, Profumo admitted that he had lied. The impact of the Profumo Affair was further reinforced by several factors. The press and television inveighed against the lack of morality in public life. The Times lamented the decline in public standards while every weekend the BBC allowed the party leaders to be mercilessly lampooned.
From Post-War Britain, 1945–1992 by Alan Sked and Chris Cook, published in 1993
Source C
The Conservative confusion naturally helped Labour. Harold Wilson was a witty and effective leader of the opposition. He never managed to outmatch Macmillan, but in the political mood of 1964 he could deal effectively with Douglas Home who was not at his best in answering questions in the House of Commons. Sir Alec Douglas-Home was bad, too on television. Wilson was certainly more plausible and convincing. He gave the impression of being a man of the times, more in touch with the ‘modernising of Britain’ than Douglas-Home.
From The Decline of Power, 1951–1964 by Robert Blake, published in 1985

(a) Use Sources A and B and your own knowledge.

Explain how far the views expressed in Source A differ from those in Source B on the reasons for the growing unpopularity of Macmillan’s government in the early 1960s.

(12 marks)

Source A suggests that Macmillan’s government became increasingly unpopular because it had become out of touch with the general public. Macmillan had been in office for a long time and he was ‘out of touch’. An example of this was his decision to appoint a peer to the post of Foreign Secretary. This suggested that he was undemocratic. This position was made worse by the fact that comedians began to satirise the government as a bunch of Old Etonians and members of an elite they termed the Establishment.

COMMENT

This paragraph offers a clear link to the content of Source A. It provides information from the source which is linked directly to the issue of the growing unpopularity of Macmillan’s government.

LINKS TO 

Britain 1945–2007, pages 63–67.

The use of TV satire also is mentioned in Source B. However, in this case, the reason for the government’s unpopularity was the Profumo scandal, which involved a senior government minister, the Minister of War, having an affair with a prostitute. To make matters worse, he lied about the affair. It was also serious because as Minister of War he was in a very sensitive security position at the height of the Cold War. The fact that the prostitute was also seeing a Soviet official made it a possible breach of national security.

COMMENT

This paragraph offers a clear link to the information in Source B. However, it would have been better to offer a clear comparison with Source A in this paragraph, showing areas of similarity and difference between the information contained in the sources.

LINKS TO 

Britain 1945–2007, pages 63–67.

Therefore, the views expressed in Source A are only partially supported in Source B. Both sources highlight the power of the press and TV in helping undermine the popularity of a government.

COMMENT

This paragraph offers a clear link to the question. However, it would be better if the areas of similarity and difference were highlighted in more detail. Also, the answer tends to concentrate rather too much on the information in the sources and contains only limited own knowledge.

Level of Performance

This answer is focused clearly on the issue. Relevant information is taken from the sources but there is limited own knowledge.

This answer was awarded a mark in level 2: 6 out of 12 marks.

(b) Use Sources A, B and C and your own knowledge.

To what extent was the Labour victory in the 1964 general election due to Conservative mistakes?

(24 marks)

Clearly, Conservative mistakes were a major cause of their own defeat in 1964. According to Source A, Macmillan was seen as being increasingly out of touch. In 1963, in an attempt to regain control, he sacked over half of his cabinet in the ‘night of the long knives’. However, this did not work and later in 1963 he resigned from office, claiming ill health. 

COMMENT

This paragraph offers a clear link with the question. It refers directly to the issue of Conservative mistakes. It also integrates information from Source A and own knowledge.

LINKS TO 

Britain 1945–2007, pages 63–67.

Source B also suggests the Conservatives made mistakes. The Profumo affair did great damage to the government. It was a scandal that was regularly in the news throughout 1963. Also, the activities of unscrupulous landlords, known as ‘Rachmanism’, increased the government’s unpopularity. Landlords were seen as exploiting their tenants and the government was seen to receive part of the blame.

COMMENT

This paragraph offers a clear link to Source B and to own knowledge. It refers directly to the Profumo affair but also mentions the scandal surrounding the exposure of Rachmanism in rented accommodation.

LINKS TO 

Britain 1945–2007, pages 63–67.

In addition, the Conservatives engaged in a bitter leadership contest following Macmillan’s resignation. Butler and Hailsham fought openly for the position of party leader and prime minister. In the end, a compromise candidate was chosen, Lord Home. He gave up his peerage to become Sir Alec Douglas-Home. As Source C states, he lacked personality when appearing on TV, and was a poor speaker.

COMMENT

This paragraph offers a link to own knowledge with reference to the Conservative leadership context. This is linked to information from Source C concerning the leadership style of new Conservative leader Sir Alec Douglas-Home.

LINKS TO 

Britain 1945–2007, pages 63–67.

However, Labour victory in 1964 was also due to Labour strengths. In 1963, Labour leader Hugh Gaitskill died and was replaced by Harold Wilson. Source C states that Wilson was a witty and an effective leader who appealed to the electorate. Labour also ran an effective election campaign claiming that after ’13 years of Tory misrule’ Labour was the party to modernise Britain.

COMMENT

This paragraph offers a clear balance in coverage of factors. It deals directly with Labour strengths. In doing so, own knowledge is used and this is integrated with some information from Source C.

LINKS TO 

Britain 1945–2007, pages 63–67.

Therefore, Conservative mistakes did aid Labour in 1964. However, of greater importance was the fact that the Conservatives had been in power since 1951 and the electorate wanted a change. In Wilson, Labour had an effective leader who led a strong election campaign, even though Labour’s eventual margin of victory was small. 

COMMENT

This paragraph offers a clear assessment of the question. It evaluates the importance on Conservative mistakes as a factor in their 1964 defeat. However, it also links this with other factors, such as Labour strengths.

Level of Performance

This answer shows explicit understanding of the question and chooses appropriate information from the sources and own knowledge to make a valid argument.

This answer was awarded a mark in level 4: 18 out of 24 marks.

OCR A

F961 Option B 

Modern 1783–1994

Post-War Britain 1951–1994

The examination time is 1 hour and 30 minutes. You need to answer one of two questions.

How far was Mrs Thatcher’s leadership the most important reason in explaining the Conservative victory in the 1979 general election?

(50 marks)

In 1979, Mrs Thatcher became Britain’s first woman prime minister, having defeated the Labour government of James Callaghan in the general election. The election saw a 7 per cent swing to the Conservatives – one of the biggest swings since 1945. In achieving success, the Conservatives owed a considerable amount to Mrs Thatcher.

COMMENT

This paragraph offers a clear link with the question. It offers the context for Mrs Thatcher’s victory and is also linked to the assertion in the question.

LINKS TO 

Britain 1945–2007, pages 36–37 and 72.

Mrs Thatcher became leader in 1975 and proceeded to offer clear and incisive leadership of her party against a minority Labour government. Mrs Thatcher’s direct and aggressive manner stood in marked contrast to the more laid back and quieter style of leadership associated with Jim Callaghan. By 1979, Britain had suffered almost a decade of recession. Under the Labour Government, Britain faced slumpflation, rising inflation and unemployment at the same time. So, when the general election was called, Thatcher’s leadership style offered a clear break with the past and offered British voters an exciting and dynamic alternative to Labour, which was associated with economic problems. Thatcher claimed that the role of government had increased too much and the public were paying too much tax. These policies were popular with the electorate. So, Thatcher’s leadership offered an important break with the past and was an important factor in Labour’s defeat.

COMMENT

This paragraph deals directly with the assertion in the question. It mentions Thatcher’s leadership qualities and contrasts these with those of the Labour leader. It also contains some contextual information about why Thatcher’s leadership style was important in the circumstances of 1979.

LINKS TO 

Britain 1945–2007, pages 36–37 and 72.

However, Labour’s defeat can be explained by other factors. The period of rising inflation in the late 1970s led to an increase in pay-increase demands by many public sector unions. These reached a height in the winter of 1978–1979 when local government workers and railway workers went on strike in what was called the Winter of Discontent. These strikes proved very unpopular and the Labour government was blamed for not taking on the trade unions, who were the main financiers of the Labour Party. The Conservatives used the Winter of Discontent to their advantage. An important Conservative poster in the 1979 election campaign showed a long queue of unemployed people under the title ‘Labour isn’t working’. Conservative victory was due, at least in part, to the Labour party’s failure to deal with public sector strikes.

COMMENT

This paragraph offers a balanced approach to the question with reference to other factors explaining Labour defeat.

LINKS TO 

Britain 1945–2007, pages 36–37 and 72.

Another important factor was the economy. In the late 1970s, inflation eroded the value of salaries and wages. As voters paid higher taxes, the Conservatives were able to point out that a major change in economic policy was required. Lower taxes, trade union reform and less government involvement in people’s lives were all vote winners for the Conservatives. Another popular Conservative proposal was the plan to sell council houses to their tenants. Therefore, the Conservatives exploited Labour’s weak position on the economy and the trade unions to their own electoral advantage.

COMMENT

This paragraph sustains the argument. Factual knowledge is used to support and sustain analytical points made. It also ends with a brief evaluation.

LINKS TO 

Britain 1945–2007, pages 36–37 and 72.

Therefore, although Mrs Thatcher’s leadership was important, a much more important factor in explaining Conservative victory was Labour’s poor performance in economic policy in the late 1970s.

COMMENT

This short paragraph provides a brief but focused conclusion to the question. 

Level of Performance

This answer is well focused, identifying a range of specific explanations, backed by some precise evidence and demonstrates a good connection and link between issues. It is well written and organised.

AO1a

This answer uses accurate and relevant evidence and uses a range of appropriate historical terminology.

This answer was awarded a level 1B: 13 marks. 

AO1b

There is clear understanding of most key concepts relevant to analysis and to the topic and the answer is generally consistently and relevantly developed in terms of explanation.

This answer was awarded a level 1B: 14 marks.
AO2b
The answer engages consistently with the question and shows good analysis and evaluation of different factors. There are substantiated judgements about the relative importance of different factors and links are made between factors.

This answer was awarded a level 1B: 14 marks.
Total: 40 out of 50 marks
